H £ 0l & AF & S

Al A

A QIRKIED
Hu: DHOE DIABHALIA MD(LUDDHT/ABIHT)

SI9l: PRIZAO| QIRTEOIAIH P (crol: m2)
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
0124 K| = ot 2,386,125 2,374,861 11,264

2 165,788 165,788 0

0 2,230,337 2,219,073 11,264

DB DIRMTAHIA FB(LBBTIUT/ Ao E) 33,553 33,730 £2,177

= 57,246 57,246 0

2 276,307 278,484 ~2,177

oIz QIREHOIAIM D 244,214 246,391 ~2,177

Al&5tD HEE DI R 225,786 227,963 ~2,177

] 77,776 79,953 ~2,177

01 AL 22| 39,250 39,090 160

OBAZE 1=yl 2 160 0 160

oxY=(S,5=) 60,0002 %12+23] 120 0 120

CLIEE] 40,00024+1% +13] 40 0 40

2 ZZ2H| 38,526 40,863 £2,337
OQIZH(SEUR) A2 SHISI|

4,462,8002! 4,463 6,800 £2,337

BESIE EX, UNBIALY PH(FEUK DN/ N 1,856,791 1,847,909 8,882

= 98,542 98,542 0

2 1,758,249 1,749,367 8,882

e, HAHH =z 119,307 19,289 18

2 5,000 5,000 0

2 114,307 114,289 18

NERIE] 119,307 19,289 18

2 5,000 5,000 0

o 114,307 114,289 18

201 B2t 83,678 83,860 18

2 ZZ2H| 16,405 16,387 18

OASRHISTYI 16,405 16,387 18

OXNYS AL ZHISIHI

864,8002! 865 1,122 ~257

OXNEESYTH HSZA 275,0002 275 0 275

CNEXN, SAYSALY 75 1,395,950 1,387,086 8,864

= 65,858 65,858 0

2 1,330,002 1,321,228 8,864

NEVEIVNE 1,320,722 1,311,858 8,864

= 65,858 65,858 0

2 1,254,864 1,246,000 8,864

201 B2t 59,214 49,630 9,584

2 4,700 3,980 720

2 54,514 45,650 8,864

01 AL 22| 38,850 38, 130 720

OgursgY| 34,700 33,980 720




A QXA
M M2SE EXl, NBHIAAY RE(FELXANL/NALEAI)
ol OXEXE, SUFEEAAYE A= EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
o2l 1,300,000 1,300 412 888
= 1,300 412 833
Of=Ei:] 8,000 +3&x133|+33 936 1,104 2168
= 936 1,104 2168
2 S22l 20,364 11,500 8,864
03323 20,364 11,500 8,864
OXHEMEAL SN2 SELSER
2,530&#7,560= 19,127 10,120 9,007
OXHMEAISE S H2HHa SHIsl]
576,500 577 720 A143
202 04l 900 1,620 AT20
= 900 1,620 AT
01 =LHoiL 900 1,620 AT20
OZUodtl 20,0002 x3& 15 900 1,620 AT20
= 900 1,620 AT
HY 2L ZHI(DIEH/IIE 192,099 187,910 4,189
oA (2R XIHD) 126,410 123,509 2,901
el 2| 126,410 123,509 2,901
101 QI2HI 126,410 123,509 2,901
02 JIetx 2= 10,623 7,722 2,901
o=z 10,623 7,722 2,901
OAZAZ R (EE)
11,8372 *3BAI2H+1H+72 2,901 0 2,901
Jl2ZHI(2R X =) 65,689 64,401 1,288
Jl=2&Hl 65,689 64,401 1,288
201 et23| 26,869 26,421 448
01 AtR2tel] 26,869 26,421 448
O=gHl 18,683 18,240 448
OS2 ASAHI(EA)
8,000 x 1 +BAx7E 448 0 448
202 Ot 35,040 34,200 840
01 =LHoi 35,040 34,200 840
OzLHobI(HAB) 20,000 x 16U +7 3 840 0 840
WLeS(UHXHY) (LESSHE/LLET) 3,682 3,312 370
SEXE(LUAX=D) 3,682 3,312 370
SAHIEESEHe 3,682 3,312 370
802 gtet=JIEt 3,682 3,312 370
01 2DNEXILHEZ 3,682 3,312 370
02022 NETHEA =202 ES 0IXK+ BHe
356, 1303 357 0 357
02022 HESAIXDIF =023 OIA+ BHe
12,2508 13 0 13




